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Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that
needs correction in each of the following questions.
Question 1: A smile can be observed, described, and reliably identify : it can also be elicited
and manipulated under experimental conditions.
A.smile B. identify C. can also D. experimental

Question 2: It was suggested that he studies the material more thoroughly before attempting

o pass the exam.

A.wassuggested B studies C. more thoroughly D, attempting
Question 3: Some methods to prevent soil erosion are plowing parallel with the slope of
hills, to plant trees on unproductive land, and rotating crops.

A.Some B. to prevent C.are D. to plant
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in
meaning to the underlined word(s) in each of the following questions.

Question 4: Marco Polo’s account of his travels has been invaluable to historians.

A valuable B. important C. worthless D. priceless
Question 5: Satish’s point of view was correet but his behavior with his father was quite
impertinent.

A healthy B. smooth C. inadequate D. respectful
Mark the letter A, B, C, o D on your answer sheet to indicate the most suitable response o
complete each of the following exchanges.

Question 6: Kenny asked for permission to smoke, but his colleague couldn’t put up with the

smoke.
- Kenny: “Do you mind if I smoke in here?”
A. Pd rather you didn’t B. No, thank you
C.No, Icouldn’t D. Yes, you can.

Question 7: Hana and Jenifer are talking about a book they have just read.
- Hana: “The book is really interesting and educational.”
Jenifer: *
A. That's nice of you to say so. B.Tdloveit.
C.Don’t mention it D. I couldn’t agree more.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines

cach pair of sentences in the following questions.
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[image: image2.jpg]Question 8: We found the bad weather very inconvenient. We chose to find a place for the
night.

A. The bad weather prevented us from driving any further.

B. Bad weather was approaching, so we started to look for a place to stay.

C. Seeing that the bad weather had set in, we decided to find somewhere to spend the night.

D. Because the climate was so severe, we were worried about what we’d do at night.
Question 9: She tried very hard to pass the driving test. She could hardly pass it

A. Although she didn’t try hard to pass the driving test, she could pass it.

B. She tried very hard, so she passed the driving test satisfactorily.

€. No matter how hard she tried, she could hardly pass the driving test.

D. Despite being able to pass the driving test, she didn’t pass it.
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in
meaning to the underlined word(s) in each of the following questions.
Question 10: She simply took it for granted that the check was good and did not ask him
any questions about it

A. permitted it B. accepted it without investigation

C. objected to it D. looked it over
Question 11: Juan Manuel Santos was awarded the Nobel Peace Prize 2016 for his resolute
efforts to bring the country’s more than S0-year-long civil war to an end.

A. determined B. sure C. original D. certain
Read the following passage and mark the letier A, B, C, or D on your answer sheet to
indicate the correct answer to each of the questions

Thunderstorms, with their jagged bursts of lightning and roaring thunder, are actually
one of nature’s primary mechanisms for transferring heat from the surface of the earth into
the atmosphere. A thunderstorm starts when low-lying pockets of warm air from the surface
of the earth begin to rise. The pockets of warm air float upward through the air above that is
both cooler and heavier. The rising pockets cool as their pressure decreases, and their latent
heat s released above the condensation line through the formation of cumulus clouds.

What will happen with these clouds depends on the temperature of the atmosphere. In
winter, the air temperature differential between higher and lower altitudes is not extremely
great, and the temperature of the rising air mass drops more slowly. During these colder
‘months, the atmosphere, therefore, tends to remain rather stable. In summer, however, when

there is a high accumulation of heat near the earth’s surface, in direct contrast to the
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[image: image3.jpg]considerably colder air higher up, the temperature differential between higher and lower
altitudes is much more pronounced. As warm air rises in this type of environment, the
temperature drops much more rapidly than it does in winter; when the temperature drops
‘more than 4 degrees Fahrenheit per thousand feet of altitude, cumulus clouds aggregate into a

single massive cumulonimbus cloud, or thunderhead.

In i

lation, a single thunderstorm is an impressive but fairly benign way for Mother
Earth to defuse trapped heat from her surface; thunderstorms, however, can appear in
concert, and the resulting show, while extremely impressive, can also prove extraordinarily

ion between cold air and warm air masses

destructive. When there is a large-scale collis
during the summer months, a squall line, or series of thunderheads, may develop. It is
common for a squall line to begin when an advancing cold front meets up with and forces
itself under a layer of warm and moist air, creating a line of thunderstorms that races forward
at speeds of approximately forty miles per hour. A squall line, which can be hundreds of
‘miles long and can contain fifty distinct thunderheads, is a magnificent force of nature with
incredible potential for destruction. Within the squall line, often near its
southern end, can be found supercells, long-lived rotating storms of exceptional strength that
serve as the source of tomadoes.
Question 12: The topic of the passage is

A. the development of thunderstorms and squall lines

B. the devastating effects of tornadoes

C. cumulus and cumulonimbus clouds

D. the power of tornadoes
Question 13: The word “mechanisms” in paragraph 1 is most likely

A. machines B. motions C. methods D. materials
Question 14: It can be inferred from the passage that, in summer,

A. there is not a great temperature differential between higher and lower altitudes

B. the greater temperature differential between higher and lower altitudes makes
thunderstorms more likely to oceur

C. there is not much cold air higher up in the atmosphere

D. the temperature of rising air drops more slowly than it does in winter
Question 15: The word “benign” in paragraph 3 is closest in meaning to

A.harmless B. beneficial C. ferocious D. spectacular
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[image: image4.jpg]Question 16: The expression “in concert” in paragraph 3 could best be replaced by

A.asachorus B. with other musicians
C.as acluster D. in a performance

Question 17: The word “itself” in paragraph 3 refers to
A.a large-scale collision B. asquall line
C. an advancing cold front D. a layer of warm and moist air

Question 18: All of the following are mentioned in the passage about supercells EXCEPT

that they
A. are of short duration B. have circling winds
C. have extraordinary power D. can give birth to tornadoes
Question 19: This reading would most probably be assigned in which of the following
courses?
A. Geography B. Meteorology C. Marine Biology ~ D. Chemistry
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of
the following questions.
Question 20: I know we had an argument, but I know I'd quite liketo .
A. make up B. look down C. fall out D. bring up
Question 21: It is vital that everyone _____ aware of the protection of the environment.
Ais B.be C.are D. were
Question 22: My uncle was ____ill last summer; however, fortunately, he is now making

aslow but steady recovery.

A. seriously B. deeply C. fatally D. critically
Question 23: All of her sons joined the army when the war broke

A.out B.off C.over D.up
Question 24: This is the second time you ____ your door key.

A.are losing B. lose C.lost D. have lost
Question 25: Her fiance is said _____ from Harvard University five years ago.

A.having graduated B to have graduated  C. being graduated D, to be graduated

Question 26: This is the most difficult job I've ever had to do.
A.by chance B. by myself C.by far D. by heart
Question 27: The number of higher education has risen this year for the first time in

‘more than a decade.
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[image: image5.jpg]A. applies B. applications C. applicable D. applicants
Question 28: Not until 1856 _____ across the Mississippi River.
A. the first bridge was built B. was the first bridge built
C. the first bridge built D. did the first bridge build
Question 29: At first sight I met her, I was impressed with her ____eyes.
A. big beautiful round black B. beautiful big round black
C. beautiful black big round D. beautiful round big black
Question 30: ____ the film’s director, Ben Affleck, was famously left off the 85® Oscar’s

Best Director list of nominees surprised everyone.
A. What B.Dueto C. Although D. That
Question 31: I love this painting of an old man. He has such a beautiful ____ smile.
A. childlike B. childish C. childhood D. childless
Read the following passage and mark the letter A, B, C, or D on your answer sheet to
indicate the correct answer to each of the questions
Before the mid-nineteenth century, people in the United States ate most foods only in season.
Drying, smoking and salting could preserve meat for a short time, but the availability of fresh
‘meat, like that of fresh milk, was very limited; there was no way to prevent spoilage. But in
1810, a French inventor named Nicolas Appert developed the cooking-and-sealing process of
canning. And in the 1850°s an American named Gail Borden developed a means of
condensing and preserving milk. Canned goods and condensed milk became more common
during the 1860’s, but supplies remained low because cans had to be made by hand. By 1880,
however, inventors had fashioned stamping and soldering machines that mass-produced cans
from tinplate.
Suddenly all kinds of food could be preserved and bought at all times of the year.
Other trends and inventions had also helped make it possible for Americans to vary their
daily diets. Growing urban population created demand that encouraged fruit and vegetable
farmers to raise more produce. Railroad refrigerator cars enabled growers and meat packers
to ship perishables great distances and to preserve them for longer periods. Thus, by the
1890's, northern city dwellers could enjoy southern and western strawberries, grapes, and
tomatoes, previously available for a month at most, for up to six months of the year. In
addition, increased use of iceboxes enabled families to store perishables. As easy means of
producing ice commercially had been invented in the 1870, and by 1900 the nation had

‘more than two thousand commercial ice plants, most of which made home deliveries. The
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[image: image6.jpg]icebox became a fixture in most homes and remained so until the mechanized refrigerator
replaced it in the 1920°s and 1930’s.
Almost everyone now had a more diversified diet. Some people continued to eat mainly
foods that were heavily in starches or carbohydrates, and not everyone could afford meat.
Nevertheless, many families could take advantage of previously unavailable fruits,
vegetables, and dairy products to achieve more varied fare.
Question 32: What does the passage mainly discuss?

A. Causes of food spoilage

B. Commercial production of ice

C. Inventions that led to changes in the American diet

D. Population movements in nineteenth century
Question 33: The phrase “in season” in paragraph 1 refers to

A.akind of weather  B. a particular time of year

C. an official schedule D. a method of flavoring food
Question 34: The word “prevent” in paragraph 1 is closest in meaning to

A.estimate B. avoid C. correct D. confine
Question 35: During the 1860’s, canned food products were

A. unavailable in rural areas B. shipped in refrigerator cans

C. available in limited quantities D. astaple part of the American diet
Question 36: It can be inferred that railroad refrigerator cars came into use

A before 1860 B. before 1890 C. after 1900 D. after 1920
Question 37: The word “them” in paragraph 2 refers to

A.refiigerator cars B perishables C. growers D. distances
Question 38: The author implies that in the 1920°s and 1930’ home deliveries of ice

A. decreased in number B. were on an irregular schedule

C.increased incost  D. occurred only in the summer
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined
part differs from the other three in pronunciation in each of the following questions.
Question39:  A.approached  B.sacrificed  C.unwrapped  D. obliged
Question 40: A, private B. marriage C. romantic D. attract
Read the following passage and mark the letier A, B, C, or D on your answer sheet to

indicate the correct word(s) to each of the questions
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[image: image7.jpg]Last year, there were millions of international tourist arrivals across the globe. Whether they
were students on their (41)_____ years looking for overseas adventure, stressed-out workers
hoping to get away for a weekend, or retirees (42)_____ to relax in an exotic location-
clearly none of them thought they could find the same experience at home. The question is
whether foreign travel brings more advantages or disadvantages.

An obvious positive point is that going abroad sometimes helps people to expand their
knowledge of the world. If they are (43)____ - minded, they can learn about new cultures
and hopefully gain a more accurate understanding about their way of life. In addition, there is
the economic benefit of tourism to countries which have few other resources. It can provide
an income to many people within the industry.

Having said that, some people simply go to a foreign resort (44)_____ by high walls and
therefore learn little about their holiday (45)____. Another issue is that hordes of tourists
often spoil the “unspoilt™ places they visit. The most recent example of this is Antarctica,
where last year cruise ships took thousands of visitors to view the disappearing icebergs and
wildlife. Vegetation, nesting penguins and resting walrus are vulnerable

when humans intrude.

Question41: . space B. break C. pause D. gap
Question 42: A, wish B. wished C. wishing D. to wish
Question 43: A, open B. narrow C. absent D. single
Question 44:  A. covered B.surrounded . sheltered D. stopped
Question 45 A. direction B.destination  C.departure D, situation

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in

meaning to each of the following questions.
Question 46: Had the advertisement for our product been better, more peaple would have
bought it.

A. Not many people bought our product because it was o bad.

B. Our product was of better quality so that more people would buy it.

C. Fewer people bought our product due to its bad quality.

D. Since the advertisement for our product was so bad, fewer people bought it.
Question 47: “How beautiful you are today!” he said.

A. He complimented her on being beautiful today.

B. He said to me that she was beautiful that day.
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[image: image8.jpg]C. He complimented her on being beautiful that day.
D. He complemented her on being beautiful that day.
Question 48: The sooner we solve this problem, the better it will be for all concernd.
A.Ifall concerned are better, we can solve this problem soon.
B. If we could solve this problem soon, it would be better for all concerned.
C.If we can solve this problem soon, it will be better for all concerned.
D. It would be better for all concerned if we can solve this problem soon.
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from
the other three in the position of primary stress in each of the following questions.
Question 49: A, suburb B. support C. prefer D. canoe
Question 50: A, attitude B.instinctive  C. continent D. applicant
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LOT GIAI CHI TIET
Question 1: Dip fin B

Kién thire: Cau bi dong, sira 13i sai
Giii thich:
identify => identified

Chit ngi trong cu i vit (smile) nén ta phai dimg dang bi dong. Dang bi dong vi dong tir
Khuyét thiéu: Modal
verb+ be + PP

Tam dich: Mot ny cusi ¢6 thé duge quan sit, md ta vé xéc dinh mdt cich chi

6 thé duge goi ra va thao tic trong diéu kién thyc nghigm.
Question 2: Dip iin B
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[image: image10.jpg]Kién thire:
G thich:

studies => study hofc should study

Cdu triic vai “suggest™ suggest + (that) + S + (should) + V +..
Tam dich: N6 dugc goi ¥ ring ciu dy nén nghién ciru cic tai lidu ky ludng hon trude khi ¢b
giing vugt qua ky thi.

Question 3: Dip in D

Kién thire: Sira 16 sai

Gii thich:

to plant => planting

G diy ta ding V-ing dé tuong img ngir phip véi nhimg déng tir khic (plowing, rotating)
Tam dich: Mgt s6 phuong phap phong ngira x6i mon dit 1a cay song song véi dé doc cia
ddi, trong cdy trén dit kém ning sudt va ludn canh.

Question 4: Dip fin C

Kién thire: Tir vimg, tir trdi nghia

G thich:
invaluable (a): c6 gi trj rit cao, v gid

valuable (a): ¢6 gid tri lén, quy biu important (a): quan trong
worthless (a): vo gid tri; vé dung priceless (a): v gid, quy biu

=> invaluable >< worthless
‘Tam dich: Tai liéu ctia Marco Polo vé nhimg chuyén di ciia dng 14 vé gid déi véi cic sir gia.
Question 5: Dip din D

it vung, tir tréi nghia

impertinent (a): xc lo, hdn xugc

healthy (a): khoé manh smooth (a): trdi chay, suon sé

inadequate (a): khéng thoa déng respectful (a): ton trong

=> impertinent >< respectful

‘Tam djch: Quan diém cua Satish 13 chinh xc nhung thii dd ciia anh véi cha khi xdc ldo.
Question 6: Dip dn A

Kién thire: Vin hod giao tiép

G thich:
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[image: image11.jpg]Tam dich: Kenny xin phép hit thudc, nhimg dong nghi

thude.

i anh khong thé chiu dugc khoi

- Kenny: “Ban c6 phién néu téi hit thube & ddy khong?™

- Alex:" 0
A. Toi mong i ban dimg hit. B. Khong, cim on.
C. Khéng, t6i khong thé. D. C6, ban c6 thé.

Question 7: Dip in D
Kién thire: Van hod giao tiép
Giii thic}

‘Tam dich: Hana va Jenifer dang n6i vé mét cudn sich ma ho vira doc.

- Hana: "Cudn sich thit thii vi va ¢6 tinh gido dyc.”

~Jenifer: " e
A. Thit tuyét khi ban néi nhu viy. B. Téi thich no.
C. Pimg dé cip dén né D. Téi khong thé déng ¥ hon.

Question 8: Dip fin C
Kién thire: Lién tir, viét lai ciu

G thich:

Tam dich: Chiing ti thy thoi tiét xdu rét bit tiégn. Chiing t8i da chon tim mt noi nghi dém.
A. Thoi tiét xdu can trg chiing o ldi xe xa hon.

B. Thoi tiét xdu dang dén, vi vy ching t6i bt diu tim kiém mot noi dé &.

C. Nhin thy thori tiét xiu da xay
D. B vi khi hiu rat khic nghigt, ching t6i da lo ling vé nhimg gi ching t6i s& lam vao ban

. chiing t3i quyét dinh tim noi nio 6 dé nghi dém

dém.
Question 9: Dip fin C
Kién thire: Lién tir, viét lai ciu

Giii thich:

Tam dich: C6 da ¢é ging rit nhiéu dé vuot qua bai kiém tra li xe. C6 dy kho c6 thé vuot qua
6.

A. Miic di c6 khéng ¢ ging vurot qua bai kiém tra lii xe, ¢6 c6 thé vugt qua no.

B. Cé rit cb ging, vi vy ¢6 da vuot qua bai kiém tra ldi xe mgt cich thoa déng.

C. Dii ¢ cb giing thé ndo, ¢d khé ¢6 thé vugt qua duge bai kiém tra lii xe.

D. Mic dii ¢6 thé vugt qua duoc bai kiém tra 1di xe, c6 dy di khong vuot qua.

Question 10: Dip fin B
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[image: image12.jpg]Kién thire: Tir vumg, tir dong nghia

G thich:

take it for granted: cho nd 13 diing

permit it: thira nhdn n6

accept it without investigation: chdp nhin n6 ma khéng cin diéu tra

object to it: phan ddi né

Took it over: suy xét, kiém tra ky

take it for granted = accept it without investigation

dich: €& don gidn cho ring viée kiém tra I t5t va khong hoi anh ta bit ky cdu hoi ndo

vé vige 6.
Question 11: Dip fin A

Kién thire: Tir vimg, tir dng nghia
G thich:

resolute (a): kién quyét

determined (a): nhét quyét, kién quyét sure (a): chiic chin
original (a): diu tién, nguyén goc certain (a): chic, chic chin
=> resolute = determined

Tam dich: Juan Manuel Santos duge trao Giai Nobel Hoa binh nim 2016 vi nhimg nd lyc

ién quyét cia minh dé dua cude ndi chién kéo dai hon 50 nim cua dit nudc chim dit.
Question 12: Dip fin A
Kién thire:

oc hidu
G thich:

Ch dé ciia doan vin la

A. s pht trién cia bio c6 sdm sét vi dong di luu

B. nhimg anh hudng tan phd cua oc xody
C. miy tich va vil tich

D. sitc manh ciia 16¢ xody

Question 13: Dip din C

Kién thire: Doc hiéu

G thich:

Tir “mechanisms” trong doan 1 ¢4 nhiéu khi ning I
A miy méc B. chuyén dng
C. phuong phip D.v
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[image: image13.jpg]“mechanisms”; co ché, phuong phip
‘Thunderstorms, with their jagged bursts of lightning and roaring thunder, are actually one of
nature’s primary mechanisms for transferring heat from the surface of the earth into the
atmosphere

Bio 6 sim sét, v6i mot loat chép va tiéng sim m &m, thyc s 1 mét trong nhimg co ché
chinh ciia thién nhién dé truyén nhiét tir bé mat tréi dit vao khi quyén.

Question 14: Dip éin B

Giii thich:

C6 thé suy lujin tir dogn van, vio misa hé,

A. khong c6 su khic bigt nhiét o 16 gitia cao dd cao va thip hon

B. sy chénh léch nhiét g cao hon gita d9 cao v thip hon lim cho con bio xdy ra nhiéu hon

C. khéng c6 nhiéu khong khi lanh trong bu khi quyén cao hon

D. Nhiét d9 cita khong khi ting gidm chdm hon so véi nhigt d9 trong mita dong

Théng tin: In summer, however, when there is a high accumulation of heat near the earth’s
surface, in direct contrast to the considerably colder air higher up, the temperature differential
between higher and lower altitudes is much more pronounced. As warm air rises in this type
of environment, the temperature drops much more rapidly than it does in winter

Question 15: Dip din A

Kién thire: Doc hiéu

Gidi thich:

Tir “benign” trong doan 3 c6 ¥ nghia gin nhit véi

Avohai  B.colgi  C.hungdi D. ngoan muc

“benign" = harmless: 6n hod, lanh tinh, v hai

In isolation, a single thunderstorm is an impressive but fairly benign way for Mother Earth to
defuse trapped heat from her surface

Trong mét sy cd 1dp, mt con bio 6 sdm sét la mdt cich dn tuong nhung kha 6n hoa dé Me
‘Trdi dat giai toa nhiét b
Question 16: Dip fin C
Kién thire: Doc hiéu

khoi bé mit ciia nd

Gidi thich:

Cum tir “in concert™ & doan 3 ¢6 thé dugc thay thé bing

A. nhu mot digp khiic B. véi cic nhae si khic
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[image: image14.jpg]C. nhu mét cum D. trong mt budi biéu dién

“in concert” = as a cluster
thunderstorms, however, can appear in concert, and the resulting show, while extremely
impressive, can also prove extraordinarily destructive:

con bio ¢6 sdm sét ¢4 thé xudt hién theo cum, va két qua, trong khi cye ky 4n tuong, ciing ¢6
thé tan phi khic thudng.

Question 17: Dip din C

Giii thic}
3 dé cip dén

A. i va cham quy md 16n B. mét dong déi luu

C. mot frong lanh xay dén truéc D. mot 16p khong khi 4m va am
“itself” chinh 13 “an advancing cold front”

Tir “itself” trong dog

1t is common for a squall line to begin when an advancing cold front meets up with and
forces itself under a layer of warm and moist air

Dong ddi Iwu thuong bit diu khi mot frong lanh xdy dén truée tinh c& va ép chinh né dudi
‘mt 16p khong khi 4m p va m uét

Question 18: Dip fin A

Kién thire: Doc hiéu

Giii thich:

Tét ca nhimg diéu sau day dugc dé cdp dén trong doan vén vé cic supercell trir viée ching

A. c6 thoi gian ngin B. ¢6 chu ky gi6

C. ¢6 ning lye phi thdng D. ¢ thé sinh ra 1éc xody

‘Thong tin: Within the squall line, often near its southern end, can be found supercells, long-
lived rotating storms of exceptional strength that serve as the source of tornadoes.

Question 19: Dip éin B

Kién thire: Doc hiéu

Gii thich:

Bili doc ndy ¢6 1¢ s& duge phin logi trong trong linh vie ndo sau dy?
A.Dialy B. Khi twgng hoc

C. Sinh hoc bién D. Hoé hoc

Dich bai doc:
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[image: image15.jpg]Bio ¢ sim sét, véi mét loat chép va 4 mot trong nhimg co ché

iéng sim m 4m, thyc sy
chinh cta thién nhién dé truyén nhiét tir bé mat tréi dit vao khi quyén. Mét con bio c6 sim
sét biit diu khi nhimg tii khi nim thip cia

Khong khi néng tix mjt dit bt diu ting lén. Céc tii khi nong trdi ndi Ién qua khong khi mit
hon va ndng hon. Céc tii ting lam mat khi 4p sudt giam, va nhiét tiém én cua ching dugc
gidi phéng trén dudmg ngung ty thong qua sy hinh thinh cic dim miy tich.

Diéu gi s& xdy ra véi nhimg dim may nay phu thud

vio nhigt d ciia khi quyén. Vio mia
dong, su chénh lich nhigt dg khong khi gitia cao dd cao va thip hon khong phai 1a cye ky
Iom, vi nhiét g cia khdi lugng khong khi tang gidm chgm hon. Trong nhimg thing lanh hon
niy, biu khi quyén c6 xu huéng tuong ddi én dinh. Tuy nhién, vio mia he, khi ¢6 sy tich tu
nhiét cao gin bé mit trdi dit, nguoc lai v6i khong khi lanh hon & cao hon, sy khic biét vé
nhiét do gilta cao dd cao va thip hon 15 rét hon nhiéu. Khi khong khi 4m lén trong méi
trudmg ndy, nhit d s& gidm nhanh hon nhiéu so véi mia dong: khi nhigt d gidm hon 4 dg F
trén d9 cao mot ngin feet, cde dim méy tich két hop lai thinh mot dém méy vi tich 16n hoic
shm sét

Trong mét sy cd 1dp, mt con bio 6 sdm sét la mdt cich dn tuong nhung khi 6n hoa dé Me
Trii dit giai to nhiét bi by khoi bé mat cia né; con bio ¢6 sim sét ¢6 thé xudt hién theo
cum, va két qua, trong khi cuc ky én tugng, ciing ¢6 thé tin phd khdc thuomg. Khi 6 su va
cham quy md lén gitta khong khi lanh va khong khi 4m vio nhimg thing mia hé, mgt dong
. Dong déi luu thudmg bit diu khi mot frong

lanh xdy dén trucc tinh & vi ép chinh n6 dudi mdt 16p khong khi 4m dp va dm uét, tao ra

déi luu hofic mét loat sim sét ¢6 thé phat trig

‘mt dong giong bdo ma chay vé phia truée véi tde dd xdp xi bén muoi dim mot gid. Dong
déi luu, €6 thé dai hang trim dim va c6 thé chita ndm muoi sim sét, 1a mot lyc lugng tuyét
voi cua thién nhién véi tiém nfing déng kinh ngac dé phi huy. Trong pham vi binh thuémg,
gin cudi phia nam ctia né, c6 thé tim thiy céc supercell, cic con bio xoay tron kéo di ¢6 sitc
‘manh cyc ky ddc ddo lam ngudn 1éc xody.

Question 20: Dip fin A

Kién thire: Phrasal verb

Gii thich:
‘make up (v): thu xép, dan xép, lim hoa look down (v): nhin xudng, ha gid
fall out (v): cdi nhau, bt hoa bring up (v): nudi ning, day d&

‘Tam dich: T6 biét 1d ching ta da c6 tranh cai, nhung t6 mudn lim hoa.
Question 21: Dip fin B
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[image: image16.jpg]Kién thire: Cau gia dinh (subjunctive)
G thic}

Cdu tric cau gid dinh véi tinh tir dimg truée ménh dé: it + be + adjective + (that) + S + V.
(inf)+...

‘Tam dich: Didu quan trong 13 moi ngudsi phii nhin thire duge sy bio vé mdi truomg.
Question 22: Dip din A

Kién thire: Tir vung

G thic}

seriously (adv): [mét cich] nghiém trong, trim trong

deeply (adv): sau, hét sitc, vo ciing
fatally (adv): [mét cich] lim chét nguoi, gy tai hoa

critically (adv): chi trich, trich cit

Tam dich: Chii t5i bi m ning vio miia hé nim ngodi; tuy nhién, may mén thay, ong hign
dang héi phuc chim nhung én dinh.

Question 23: Dip fin A

Kién thire: Phrasal verb, tir vimg

G thich:

To break out (v): biing ra, nd ra

To break off (v): két thic dot ngot, ngimg

To break up (v): gidi tan, chim dirt

‘Tam dich: Tét ca céc con trai ciia ba gia nhap quan doi khi chién tranh nd ra.

Question 24: Dip fin D

irc: Thi trong tiéng anh

triic "This is the first/second/last.

ime + S + have/has + PP"— da y 13 lin diu tie n/thir

hai/cudi ciing...1am gi. Ddy cing 1d mdt ddu higu thudng gip trong thi hign tai hoan thanh.
Tam dich: Déy 14 lin thir hai cdu lam mét chia khod nha rdi.
Question 25: Dip in B

Kién thirc:

ong kép
Gii thich:

)
Trong ciu c6 “five years ago” nén ddng ti trong ménh dé & thi qud khir
S+ amfis/are + thought/ said/ supposed... + to + have + P2.

Trong cAu niy main verb & hién tai (co sir dyng *
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[image: image17.jpg]‘Tam dich: Hon phu cia ¢6 dy duge cho 1i d tét nghi¢p DH Harvard nfim nim trude.

Question 26: Dip in C

Kién thir

Gii thich:

by chance: tinh ciy by myself: ty ban thin 6i
by far: cho dén nay by heart: thude long

‘Tam djch: Cho dén nay ddy 1 cong viée kho nhit t3i timg lim.
Question 27: Dip din D
Kién thir

Gidi thich:

it vimg, tir logi

apply (v): 4p dung, img dung
application (n): 1o thinh ciu; don xin

applicable (a): c6 thé ap dung duoc, thich hop

applicant (n): ngudi ngp don xin, ngudi xin viée

Vi tri ndy ta cin mt danh tir chi ngudi

Tam dich: S6 lwong img vién dai hoc da ting Ién trong nim nay ldn diu tién trong hon mot
thip ky.

Question 28: Dip fin B

Kién thire: Dao ngit, bi dong

Gii thich:

Pio ngir véi Not until: Not until + time/ménh dé binh thuong, + ménh dé dao ngir (ddo to
be/trg dong tr Ién trude danh tir)

Chil ngi trong cu 13 vit (bridge) nén ta ding dang bi dong

Tam dich: Cho dén nam 1856 cdy ciu diu tién duge xdy dung qua song Mississippi.
Question 29: Dip éin B

Kién thire:

i tri cita tinh tir dimg truée danh tir
G thich:

Vi tri ciia tinh tir dimg truée danh tir: Opinion (quan diém) — beautiful + Size (kich c3) - big
-+ Shape (hinh ding) ~ round + Color (mu séc) - black

Tam dich: Ngay tir céi nhin ddu tién t5i gap cd dy, t6i da rit in tuong v6i doi mét mau den
tron to rit dep cia co 4
Question 30: Dip din D
Kién thir

‘wm danh tir, tir vimg
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[image: image18.jpg]G thich:
Ta ¢6 “that” + ménh dé tao thinh mgt cym danh tir 6 chite ning lim chii ngit trong cdu ndy
Cic dip dn sai:

A.lim cho cdu khong chinh xic vé nghia

B. Due to: theo nhu, do, bai vi

C. Although: mic dit

dich: Viée dao dién phim, Ben Affleck, da bi bo khoi danh sich dé cir gidi thuong Pao
dién xudt sic nhit Oscar lin thir 85 khién moi ngudi ngac nhién.

Question 31: Dip fin A

Kién thire: Tir vimg, tir loai

G thich:

childlike (a): nhur tré con (chi bé ngoai)  childish (a): nhu tré con (chi tinh céch)
childhood (n): tudi tho du; this tho du childless (a): khong ¢6 con

Tam dich: Téi yéu birc tranh niy ciia mt nguoi dan ong Ién tudi. Ong c6 mdt ny cudi dep
nhu tré con.

Question 32: Dip din C

Kién thire: Doc hiéu

Gii thich:

Poan vin chit yéu thio lugn gi?

A. Nguyén nhin giy hu hong thye phim

B. Sin xuéit bang thuong mai

C. Cic phit minh din dén nhimg thay doi trong ché dé an udng ciia ngudi My

D. Phong trio din s6 thé ky XIX

Y xuyén sudt cua bai l cdc phit minh khién cho ché d¢ &n ciia ngudi My thay déi ( tir theo
‘mua thinh ¢6 d6 an phong phu di loai quanh nfim)

Question 33: Dip fin B

Kién thire: Doc hidu

Gii thich:

Cym tir "in season" trong dogn 1

A. mét loai théri tiét
B. mgt khoang thoi gian cy thé trong nim
C. mdt lich trinh chinh thirc

D. mit phuong phip tao huong vi thye phim
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[image: image19.jpg]season": theo miia, mot khodng thoi gian cy thé trong nam
Question 34: Dip fin B

Kién thire: Doc hiéu

G thich:

Tir "prevent” trong doan 1 gin nhit c6 ngha i
A.uéctioh  B.rinh  C.ding D, giéihan
"prevent"

but the availability of fresh meat, like that of fresh milk, was very limited; there was no way
to prevent spoilage.

nhung sy sin ¢ cia thit tuoi, gidng nhu sita tuoi, rit han ché; khing c6 cich nio dé ngin
ngira sy hur hong

Question 35: Dip iin C

Kién thire: Doc hiéu

G thich:

‘Trong nhimg nim 1860, cic san phim thyc phim déng hop

A. khong c6 & cic ving nong thén

B. vin chuyén trong hop lanh

C. 6 siin véi 56 lugng han ché

D. mét phan chit yéu cia ché do an kiéng My

‘Théng tin: Canned goods and condensed milk became more common during the 1860’s, but
supplies remained low because cans had to be made by hand.

Question 36: Dip fin B

(C6 thé suy ra ring xe lira dong lanh da duge sir dung

A truée nam 1860 B. truge nim 1890

C. sau niim 1900 D. sau nam 1920

‘Thang tin: Railroad refrigerator cars enabled growers and meat packers to ship perishables
great distances and to preserve them for longer periods. Thus, by the 1890's, northen city
dwellers could enjoy southern and western strawberries, grapes, and tomatoes, previously
available for a month at most, for up to six months of the yer.

Question 37: Dip iin B

Kién thir

oc hiéu
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[image: image20.jpg]G thich:
Tir "them” trong doan 2 dé cip dén

A. xe dong lanh B.dodéhrhong  C.ngudi trong D. khoang cich

"them" @& cip dén perishables: Railroad refrigerator cars enabled growers and meat packers
to ship perishables great distances and to preserve them for longer periods.

Xe lira déng lanh cho phép ngudi trong va nguoi déng goi thit vin chuyén dé dé hong &
‘nhimg khodng cich I6n & ding v bio quan ching lau hon.

Question 38: Dip din A

Kién thire: Doc hiéu

G thich:

‘Tic gid ngy ¥ ring trong nhimg ot giao hing bing d tai nh nim 1920 vi nam 1930
A. gidm vé sb lugng B. ¢6 mot lich trinh thuéng xuyén

C. ting chi phi D. chi xiy ra vio mita hé

‘Thong tin: The icebox became a fixture in most homes and remained so until the mechanized
refrigerator replaced it in the 1920 and 1930’s.

Dich bai doc:

Trude gitra thé ky XIX, nguoi din Hoa Ky chi an hiu hét thuc pham theo miia. Viée siy, hun
khéi vi uép mudi c6 thé bio quan thit trong mét thoi gian nghn, nhung si sin c6 cita thit
tuoi, gidng nhu sita tuoi, rit han ché; khong c6 cich nio dé ngin ngira sy hu hong. Nhung
nam 1810, mot nha phit minh Phép tén 1d Nicolas Appert da phit trién qui trinh ndu va dong
kin ciia d hop. Va trong nhimg nim 1850 mdt ngudi My tén 1 Gail Borden da phit trién
‘mdt phuong phip ngung ty v bio quin sia. Hing déng hop va sia dic da tré nén phé bién
hon trong nhimg nam 1860, nhung nguén cung cip vin con thip vi phai déng hop bing tay.
Tuy nhién, dén nim 1880, cic nhi phat minh da ché tao mdy ddp va hin dé san xudt lon tir
thiée. Dot nhién tit ca cdc loai thyc phim c6 thé duge bio quin va mua vio moi lic trong
nam.

Cic xu hugng v phit minh khic ciing 3 gip lim cho ngudii My ¢6 thé thay ddi ché d an
ubng hing ngay cta ho. Din s8 do thi dang phit trién da tao ra nhu ciu khuyén khich nong
dan tréng rau qua ting san lugng. Xe lita dong lanh cho phép nguoi trong va nguai déong g6i
thi

dn chuyén do d& hong & nhimg khoang cich Ion d& dang va bao quan ching liu hon. Do
d6, vio nhimg nim 1890, nhitng ngudi & thanh phd phia Bic cd thé thuéng thic tréi dau tdy,
nho va ca chua ¢ mién Nam va mién ty, trude diy c6 sin trong mot thing, t6i da sau thang
trong nam. Thém vio d6,

gia ting sir dung cic hop nude i cho phép céc gia dinh ¢6 thé
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[image: image21.jpg]cit giir nhimg thir d& hur hong. Nhu mt cich dé dang dé san xuit bang da thuong mai da
duge phit minh vio nhimg nam 1870, vi dén nim 1900, i nude da ¢6 hon 2.000 nhi miy di
throng mai, hiu hét déu dugc cung cap tai nha. Hop nuéc di da tror thanh mt vét cb dinh
trong hdu hét cic ngdi nha va vin dugc gilt cho dén khi ti lanh co gi6i thay thé né trong
‘nhimg nam 1920 v 1930.

Hiu nhu moi ngudi biy gio déu c6 ché dg dn uéng da dang hon. Mot s6 nguoi tip tuc in
phin 16n 1 thue pham c nhiéu tinh bét hogc carbohydrate, va khong phai ai ciing ¢ thé mua
duoe thit. Tuy nhién, nhiéu gia dinh c6 thé

dung cé

trdi cly, rau cdi, vi cdc sin phim tir

sira khéng sin ¢6 trude diy dé c6 duge thite
Question 39: Dip iin D

da dang hon.

Pubi ed duge doc 1a /id/. Khi dong tir ¢6 phit am két thic 13 // hay /d/.
Pubi ed duge doc 1 /t/. Khi dong tir o phat am két thiic La: /chl, /pl, /], /s/, /K/, b, [fT, AfT.

Dudi ed duge doc 13 /d/ Trong cic truimg hop con lai.
Phin gach chin ciu D duge phit m 13 /d/ con lgi I3 /v
Question 40: Dip fin A
Kién thire: Phit am “-a”

Giii thich:
private /praivit ‘marriage /meridy/
romantic /rav'meentik/ attract /a'traekt/

Phin gach chin ciu A duge phit am 1a /i/ con lai 1a /e/
Question 41: Dip fin D
Kién thire: Tir ving, doc
G thich:

‘gap years: niim nghi ngai gida nhimg niim hoc
Ciic tir con lgi: space: khong gian; break: ph vay; pause: ngimg lai
Question 42: Dip fin C

Kién thire: Hién tai phan tir, doc hiéu
G thich:
Hién tai phan tir (V-ing) ding dé tao ménh dé quan hé rit gon véi ciu chii dong. Trong ciu

nay, “wishing” duge hiéu i “who wish”
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